Section 1 Session 1

1 hundreds tens ones

1 3 2 is

2 hundreds tens ones

2 3 1T s

132 231 213 312 321 324
E Which are the odd numbers?

- Which are the even numbers?

- Write eighteen in numbers.
- Make two-digit numbers from 3 and 4.

and
7 Which two digits do 45 and 5k use?

6

i

Is five hundred and
thirty-two odd or even?

Partition twenty-six into tens and ones.

tens and

How many tens in qL?

How many ones in 70?

Write the number that has
six hundreds, seven tens
and eight ones.

Write 490 in words.

ones.

=@ AR

Write two odd numbers using




Section 1 Session 2

“ ANSWER 7 Write nine hundred and one
in digits.
. Write one hundred and
‘ sixty-two in digits a8 Make two different odd numbers from
and
i Write three hundred and b, 5 and 6
forty-five in digits. q | Make two different even numbers from
3 Write 21 in words. 7,8and 1. and
W Write 101 in words. 710 Make two even numbers from
0,3and 7. and

B Is 564 odd or even? T .

- Is nine hundred and

- Write 6 three-digit numbers from

n’metgvone- Qid-d or even? 1, 3 and 5.

or

an even number.

Write 6 three-digit numbers from

ten plus ten plus

n plus ten plus

sands | hundreds

I: | ones.



Section 1 Session 3
TR ANSWER ANSWER

I 10+10+10+3 = 1 Write six numbers using the digits

2 50+ 10+4+2 = 6,7 and 8

3 60+10+1+1+3 =

b 11+ 11 & 2 What is the next number after
nine hundred and ninety-nine?

S 12+12 =

6 15+ 15 =

3 What number has

7 20+20 L * three hundreds and
no tens and no ones?

'8 13+13
9 16+16
10 18+ 18 =

e

| lelf ind = ‘




Section 1 Session L
A B ey I ANSWER

1 7+4

2 6+5 -
I 8+ L =

5 19-9

| BAERL
D R [ IR
'8 19+19

How much do these cost?
- a pencil and a comic? p

- a pencil case and a comic? p

How much change from 20p if you buy

- a pencil case? .
'

How many
altogether?

old in bags of 15.




Section 1 Session 5
LA answer ([ ANSWER

1 50+9 = 1 Jake has 52 berries.
His mum gives him another
2 32+ 6 = 9 berries. How many berries

does Jake have in total?

3 4W6+5

2 Ava and Jacinta have
15 beads each. How many
do they have aitogether?

+
o
N

|
8]
i

5 72-3 = :
3 Paul has Skkg of potatoes.
B 15 + 15 . He sells 6kg. How many kg kg
are left?
R 17 + 17 % [ Will buys 2 sacks of carrots.
S Each sack weighs 17kg.
_ 12+12 = How much is that in total? kg
- 16 + 16 = el Sahil counts out 39 biscuits onto
.. a plate. Adam eats 7 of the
(10 18+ 18 o biscuits. How many are left?




Section 1 Session 6

ANSWER

B

The farmer sends 6 of the
cows to market. How many
cows are left on the farm?

Another 8 pigs are born.
How many pigs are there now?

5 of the sheep have lambs.
How many sheep do not
have lambs?

5 horses are sold.
How many horses are left?

The farmer buys another
8 goats. How many goats
are there now?




F—

Section 1 Session 7
A ANSWER 3

1 5L+3

The prices in the shop have changed.

3 67 +5 Write the correct price onto each label.

3 31-4 1. (bSp | +6p

¥ 43-7 -

|
S 56+4 2 6Zp | - up }C{

72 43 subtract 5 is

116} Edward has 15p. He spends 9p.[
What is his change?




Section 1 Session 8
“ ANSWER _ N A

There are 23 blue pens and

1 52-3 = 1

14 red ones. How many pens
2 L9+ 6 - are there in total?
3 32-14 = 2 There are 45 books on the shelf.

~ The librarian puts another

4 L5+5 = 12 books on the shelf.

How many books are there

= in total?

= 13 146 sheep are in the field.
6 of the sheep go into the
= shelter. How many sheep are
left in the field?
. _ —— G 17 cows are in the milking |
9 15+7 = : parlour. 8 cows go back to .'|

t ld_ Hﬂw many cows are !
left in the milking parlour? |

t the traffic ‘
y b cars go through
nany cars are ‘

lights?

ework.

are correct.

ber sentence where




Section 1 Session 9
n ANSWER

1 L4 tens and 3 ones is

2 96 can be written as

tens and ones.

3 70 can be written as

tens and ones.

tﬂ 6 tens and 3 ones is

- 10 tens can be written as

6 15+15=

. +n-

5 7 is the same as
2 tens and ones.
6 Add24and 13
7 Find the sum of 13 and 16
8 U1 plus 33 equals
fa 3 plus 21 s
Find the total of 25 and 23

B ol T

- How many tens are there

in 57?




Section 1 Session 10
(A | L C |

1 16+ 16 = 1 Holly has 1% marshmallows.
Alice has twice as many.

How many mars hmallows

2 1L+ 1k

does Alice have?

3 19 + 19 =

2 Imogen has 18 coins. Eve has

k 12+ 12 - 11 more. How many
coins does Eve have?

5 19+6 =
3 Zak has 15 jam tarts and so
6 LL -5 - does Ben. How many jam tarts
do Zak and Ben have in total?
- ij 32 +9 =

W There are 20 ducks and

17 hens. How many birds
are there in total?

8 6+7

1M-4 =
E - Jay has 46 cards.

0 15-6 = How many more does he

need to make 50?

A Add 1 and 24 =

Wl Frd e sumoft6anatt [




P

Section 1 Check-up 1

n ANSWER 18 Write the next odd number
after 334,

{  Write 563 in words.

19" Write the even number
just before 333.

2 Write nine hundred and
sixty-four in digits.

20 7 is the same as

L tens and ones.

3 Write the odd number.
631 526 910

:_ 'ﬁlﬁi Write the even number.

10+20+30+L4+2 =

22 Callum has two bags of
17 tomatoes. How many

545 554 L55 tomatoes is that altogether?

23 Jamie has 12 apples and
of fruit is that in total?

- q is the same as

‘tens and 3 ones.




TR rF — o= e

Section 2 Session 1
(A | ANSWER e | ANSWER

1 23+ 6 = 1 There are 5k oranges.
5 are sold. How many
2 L42-3 = oranges are left?
B 34+ 6 _ 2 48 apples are in the crate.

12 more are added. How many

W 35-7 g apples are there altogether?
3 The shop sells 28 pears. There
- 29 +7 - are 6 pears left. How many
- ears were there to start with?
6 9+ = P

37 mangoes are sold. There are
B 13-8 = b left. How many mangoes
were there to begin with?

w
£
00
I

The shop has 62 bananas.

9 8+7 el They sell 8 bananas.
f How many bananas are left?




Section 2 Session 2
PR ] avswer [0

How much do you spend if you buy

-—
w
+
o~
i

17 a pencil for 9p and a notepad

E for bp? P
- "2 alolly for 8p and a toffee

- for bp? P
= - two 7p lollies? p

Which coins do you choose to pay the
exact amount for

- an 8p pen and a 7p pencil?

E- p|and 5

' }

I!
==l ,. . i

'.
g




Section 2 Session 3
(A answer [

1 8+4 . 1 Alfie has 20 pebbles.
He puts 7 of them in
2 9+3 = his pocket.
How many of the pebbles
3.5+7 = are not in Alfie’s pocket?
% 6+8 =

.n_ ,@,; Millie has 20 stickers.
She puts some of the
stickers in the album.
She has 8 left over.
How many stickers did
she put in the album?

N
+
LD
]

w
+
it
~J
i

- Charlie has 11 black pens and
9 red pens. How many pens
does Charlie have in total?




Section 2 Session L

7.5 ANSWER
1 L2+7 =
2 54L+7 =
3 74-5 =
b 65-8 -
BN 23 +7 -
6 15 16 17
7 31 32 35
'8 21 23 31
9 L 46 L8
ey 36 38 40

- 54 - =46

!&&m.gm 1.1“'.‘_...-{ _

1 There are 6k sausages in the
butcher’s window. He sells
6 sausages. How many
are left?

2 Ruby has 34 books. Leah has
29 books. How many more

books does Ruby have
than Leah?

3 There are 29 hamburgers in the
butcher’s window. The butcher
puts another 8 hamburgers
in the window. How many
hamburgers are there in total
in the window?

Ly Archie has 6lp in his pocket.

He spends 7p. How much
money does Archie have left?

Ellie has 55p in her purse.

She spends 9p. How much
money does Ellie have left?

- ";"".hut number do you land on
ou start on 46 and Jjump

if

. -:&m;s lots of 2?

~ many jumps do you make

u start on 67 and jump
n 2s to 55?

stands on 36. She decides
 she makes 3 jumps

e will land on 4O,
correct?

nds on LS. He decides
he makes & jumps back

will land on 37.

ps forward 3 jumps
nds on 36.

mber did Freddie
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Section 2 Session 5

1 S5x2
2 8x2
3 3x2
N 2x5S
5 8x5
6 6x5
7 2x10

Bl 7x10
9 9x10

& b3 peads

1

. Toby has 5 sets of counters.

in total?

q marbles

o a® @
@D e

Paige has 2 bags of beads.
How many beads does Paige
have in total?

How many counters does
Toby have?

David has 10 bags of marbles.

How many marbles is that




Section 2 Session 6
Fu ANSWER i

1 10x 10 - 1| Rosie has £4. Joel has
5 times as much money
2 5x5 = as Rosie. How much does
Joel have? £
3 2 X 2 =
2 Ethan has £8. Harry has 10
L 10 x 1 - times as much money as Ethan. 7
How much does Harry have?
8 7 x5 =
.'l' 'i_l George has £6. Grace has twice
6 8x 10 a. ~ as much money as George.
- How much does Grace have? £
i 3 X2 i - Oscar’s mum gives him 50p.
- Qx5 N This is 5 times the cost
- of a pencil. How much
- 6 x 10 e is the pencil?
Bl s | 181 Lydia's mum gives her 80p.
R = This is 10 times the cost




section 2 Session 7
e N C | ANSWER

1 15+5= 11 Mia shares fifteen cakes
between 5 plates. How many
2 18=+2-= cakes are on each plate?

2" Leon shares £30 between

3l 30+ 10= 5 people. How much does £
each person get?
W 40:5= .
3 Keira has 18 toffees.
5 LO+10= ~ She gives half of them to
e Lauren. How many toffees
S 12+:2= does Keira have now?
T ) G Sophie has 14 pencils. She puts
3 Dautle 1t half of them into her pencil case.
-y i How many pencils did Sophie :
- Double 1815 put into her pencil case? : |

9 Douwble19is

7400 Double 17 s
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n ANSWER
1 50+ 10 =
2 W-=5 &
B 16+ 2 -
N 155 = J
S8 70+ 10 = o |
"4 the marbles between 5 people.
. 2.2 -

- the marbles between 10 people.

- the apples between 2 people.

U the apples between 5 people.

I8 the apples between 10 people.




I

section 2 Session 9




Section 2 Session 10

| A | ANSWER 6 70 divided by 10 is
1. 5x5 = 7 | 15 divided by 5 s
DT 81 2 divided by 2 is
I ) 9 12 divided by 2 is
T 10 10 divided by 10 is
] How many is 5 multiplied '
- by 10? .'
= > :I
o What is the product of
i B s | |




section 2 Check-up 2

n ANSWER 18 6x5 =

1 5+ L =
19 7x10 =

2 9-4 =
20 8x2 =

3 3+3 B
b 7+2 = 21 4x5 =




Section 3 Session 1

| A ANSWER
" 5 T
cSZQ'& & @g@éﬁ'
vI® ¥y
B 13+7 -

2 3+ =2 f—

& 16 and total 20

s and 6 total 20

6 7and total 20.
B 12 22 32, 42,
"B L6, 56, 66, 76,
14 99 89 79, 69,
100 67, 65,63, 61,




moesvem [ : _ cost 20p

s 20,22,
B |

e




Section 3 Session 3
A avswer [ F ANSWER

i 5 x2 :
2 6x2 .
3 8x5 g
& 9x 10 _
5 6x5 d
& 1w+ 2 .
, What is the cost of
-. ""—" 1 8 marbles? 5

g i - 1° @MW@? p
- Eru




N avswer ([ o W

Section 3 Session L [
}
:

T 8x2 = JII
- x5 = :
3 7x10 = |
8 Lx2 =
5 7x5 = '
. 122 = lil
7405 = I
'8 L0 =10 =
Bl 16 -2 - Write how many pieces of fruit altogether. |
Bl 25 =l ] |

11 2 bags of apples i




Section 3 Session 5

(A ANSWER

N Q x 2 = How much is

2 10x5 = 1 double £18? f

3. 9x10 = 3 double £12? £

S+ S ) 3 double £13? £

5 60 + 10 =

6 8+2 = Share equally

70 Double 14 is & £14 between 2 £
'8 Double 17 is 5 £6 between 2. £
I.ﬂ' Double 19 is ) . —1£_
10 Double 11 is e | : Vi  —

T:-__ I‘ > 'i&i‘l II I- |l|| II I ||



Section 3 Session 6

LA ANSWER I

21 24 27, .33

2. 912 15, 21

30 36,33,30, 24

Ml 24,21, 18,10, 12

5 14+2

m 25 = 5 =
7 8010 . 1 Double the largest score.
- b x 2 = - Double the smallest score.

- 8 x5 =
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section 3 Session 7
“ ANSWER 8

Shade a quarter.

7 Half of 16 is

3 Half of 20 is

3 % of 30 is 9 Shade three-quarters.
“ '.1; of 22 is

5 Jof28is ade one-third.

Write what fraction of each shape is shaded.




Section 3 Session 8

Draw a line to show half.

-
w

Draw lines to show a quarter.




section 3 Session 9
ANSWER u

What is
1 9 multiplied by 5?
2 8 multiplied by 2?
R 7 multiplied by 5?
% | L multiplied by 10?
6 multiplied by 2?
16 40 divided by 5?

17 90 divided by 10?

|

JuEEauEE

JL]




Section 3 Session 10

ANSWER




Section 3 Check-up 3
©H ANSWER

1 +5 =20
2 + 14 =20

12 + = 20

20 What is 1 of 24? D
‘21 What is a ¢ of 24? [:’
22 What is 2 of 202 I__:]

1281 Shade o quarter of this shape.

L]
!I@
’ﬂUP

q3, 92, 91, 90,

82, 84, 86, 88,
6 6 11,16 21,
712, 15, 18, 21,

S L0

8 9x10
o 7 x5
10 2x2

D

12+ 2
12 15+5

40 + 10
R ‘ g~
\E . B
.l T J
S ¥ =
- 7+ .. .
J + % 4+ 8
W !




